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avyy—rJavy (CB) & 0.0% 0. 0% 0.0%
ZDih - N8 0. 0% 0. 0% 0. 0%
&5t 0.0% 100. 0% 100. 0%
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Fiki Fih2 Fik3 Fik4 F kO ko6 Fiki &t
P 0 0 0 426 38 0 0 464
% 0. 0% 0. 0% 0. 0% 91. 8% 8. 2% 0. 0% 0. 0% 100. 0%
Huts X 53 5 3%/ MR B S 1 REF R

Fk Fik2 F k3 Fika F ko0 k6 kT &t
13his 0 0 0 0 0 0 0 0
21thig 0 0 0 0 0 0 0 0
3ithig 0 0 0 0 0 0 0 0
Aithig 0 0 0 0 0 0 0 0
Sihigk 0 0 0 0 0 0 0 0
6315 0 0 0 426 38 0 0 464
T3 0 0 0 0 0 0 0 0
8ithig 0 0 0 0 0 0 0 0
ait 0 0 0 426 38 0 0 464
X 2B &/ MR F T REF R

e Fik2 k3 Fik4 FiR5 ko6 Eik7 B&t
13hisk 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
2315 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
3ith iz 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
43th 35 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
Sihig 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
6thigk 0. 0% 0. 0% 0. 0% 91. 8% 8. 2% 0. 0% 0. 0% 100. 0%
T3 i 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
8ith iz 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
= 0. 0% 0. 0% 0. 0% 91. 8% 8. 2% 0. 0% 0. 0% 100. 0%
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K& (EERIE) 0 0 0 0 8 0 0 8
AE (BB T RO x4%)) 0 0 0 0 0 0 0 0
K& (TLNTKRE/NRIIVTEED) 0 0 0 0 0 0 0 0
oy )—bk (RC) & 0 0 0 426 30 0 0 456
a2 —bk (RC) ESTLANTD 0 0 0 0 0 0 0 0
e (S) & 0 0 0 0 0 0 0 0
$B%E (S) ETLANTY 0 0 0 0 0 0 0 0
HEHHa Y Y—+ (SRO) & 0 0 0 0 0 0 0 0
avyy—rJOoyy (CB) & 0 0 0 0 0 0 0 0
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=X 0 0 0 426 38 0 0 464
BETERNEES /IR E e ER

£ Fih2 43 Zip4 FiRo Z1k6 i &t
KE (FEERIE) 0. 0% 0. 0% 0. 0% 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
RiE (BHEEET Q2 x4%5D) 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%
K& (FUNITKREBNRILIES) 0. 0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0. 0%
a1 —k (RC) & 0. 0% 0. 0% 0.0% 93. 4% 6. 6% 0. 0% 0. 0% 100. 0%
a1 )—bk (RC) ESTLANTD 0. 0% 0.0% 0.0% 0.0% 0.0% 0. 0% 0.0% 0.0%
#®E (S) & 0. 0% 0.0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0%
#%E (S) &ETLNAT 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%
HEHEHa Y — b (SRO) & 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0%
avy)—krJOovy (CB) & 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%
Z Dith - A~BH 0.0% 0.0% 0. 0% 0.0% 0.0% 0. 0% 0.0% 0. 0%
=X 0. 0% 0. 0% 0. 0% 91. 8% 8. 2% 0. 0% 0. 0% 100. 0%
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e k4 R0 k6 a&t
13hisk 0 0 0 0 0
2315 0 0 0 0 0
Jihigk 0 0 0 0 0
4ithizg 0 0 0 0 0
i ig 0 0 0 0 0
63th iz 0 426 0 38 464
Tihiz 0 0 0 0 0
8ihigk 0 0 0 0 0
a&t 0 426 0 38 464
WHRDEE/—RIRNXT—HEESEFR

ik ik F RO k6 Bt
130334 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
21 I3 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
3ithizg 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
4ithizg 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
Sihigk 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
6ith iz 0. 0% 91. 8% 0. 0% 8. 2% 100. 0%
7 i 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
8ithizg 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
a&t 0. 0% 91. 8% 0. 0% 8. 2% 100. 0%
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oy )—bk (RC) & 0 426 0 30 456
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#%E (S) & 0 0 0 0 0
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avyy—kJByY (CB) & 0 0 0 0 0
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oAl Zik4 RS Zk6 &t
A& (FEEIE) 0.0% 0.0% 0. 0% 100. 0% 100. 0%
A& (BedEEE TR x4%)>) 0.0% 0. 0% 0. 0% 0.0% 0. 0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0% 0.0% 0. 0%
#HEgary ' )—bk (RC) & 0.0% 93. 4% 0.0% 6. 6% 100. 0%
HFEav oy )—Fk (RC) &E<TLANT> 0.0% 0.0% 0.0% 0.0% 0. 0%
#%E (S) & 0.0% 0.0% 0. 0% 0.0% 0. 0%
$E (S) ELTLANDD 0.0% 0. 0% 0. 0% 0.0% 0. 0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0. 0% 0.0% 0. 0%
avyy—krJoyvsy (CB) & 0.0% 0. 0% 0.0% 0. 0% 0. 0%
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&5t 0.0% 91. 8% 0. 0% 8. 2% 100. 0%
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